B. One cross support in the center of the tower
measures 4¢ + 3, and the other measures

6c — 5. What is the length of each cross

support?
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4. Given isosceles trapezoid MNOP where the
given expressions represent the measures of the
diagonals, what is the value of a?

Arld= Aa=|
a= |4




Midsegment of a Trapeziod

In a trapezoid, the segment containing the
midpoints of the two legs is parallel to the bases,
and its length is half the sum of the lengths of

. b,
the bases B 5 c
XY I AD, XY |l BC, X][ i - %Y

and XY = -;—(AD+ BC)
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